0 0 0 0 : 0 0 0 99 [66/4LLE dgg BeXovoseg UA] vS
¥9'6/98€G |0 S0°'LG¥001 G0'sLlzl 5/'l6z0C |60LL /29118 G'e8sor |S0'Glel [9/'12Lel G50'LS¥00L  |S€'9¥60LS |0 Sl | 29ll8 v 06 sexdvoseg UA| €5
0 G0'192LE  [8¥'¥00S0L GG'0ZVE 669€L 66 /L/€ |566858l |669/GG [¥1'6S5¥LS 8v'¥0050L {0 6£'908¥8 oYl |66LLLE oG sexovoseg "UA[ 2g
26255961 |0 ¥'0GS6€ ¥'¥085 yZly 9'698¢ 8ve6l ¥'v08S v.2G5¢k |y 0SG6€E 92'655651 |0 96 | 9698€ ) gy sexovoseg ‘UA| IS
96'90122) |0 G'Z965¢ G'e9le G'z/2s 6041 6012 SySol G'E9LE ¥1'2852¢ G'296G¢ 9'92/811 0 9t 60l¢ v ov sexoroseg "UA| 0§
£6'9¢/v01 |0 56 9€0/8 G6'LLES GZ'€968  |908SY £'685¢ G'9Z6LL |S6ZLES |21'2598€ 56'9€0.8 1'9G€9G 0 9Ll | £685¢ oy sexovoseg ‘UK 6%
¥0'¥21582 |0 2'88€EE 2'¥9GG 8'60L€ 67581 L7958 6£'9/.26€ Z'88€EEE gz'zloleZ {0 96 | 8'60L¢€ yv sexovoseg ‘UA| 8P
z9'vereel |0 GL'6lCEY §1'922s Gz'0L/8 |2SLE | y8YE G0zyllL |Gl 922S |6V .ELYY |SL6LTEY oe'zyerel |0 9Ll | 1'¥8¥E Zy sexovoseg UA| Ly
10'00/¥82 |0 EEN 2h44 G8'622S G/'60/8 |G89¥ 6'€8V¢< S6Ly/L  |G8G22S |10'/6L0Y |G8'6V.iVY /1'/¥1082 |0 9Ll | 6€8YE Oy seMovoseg ‘UA| oy
0 6L€/9vy |TELIEY 2'6/25 26.8 0€L2 8'91G¢€ p8S.L1 2'542S /8'0528¢€ z'ellEy 0 21'9656% 9Ll | 8916¢ g¢ sexoroseg 'UA| G
0 1822.L 6661962 G6G6G¢ GZ'€665 1502 £'/6€C G'986L1 [56°G6SE |20G8C 5661962 0 G6'86EEL vyl | €16€C v 9¢ sexovoaeg Uk v¥
6'vLL¥EC |0 L'iyiey 12916 G'v098 191€ 8 Lyve 60241 12916 ¥ 6€8EE IS 2%44 ¥6'2.2522 |0 9Ll | 8lvvE g¢ sexotoseg Uk ey
v/'L6E6SL |0 8'GBYEY 8'9€2S 8¢/8 LYEE Z'LBVe oSyl 8'9¢2S 16'158€€ 8'GBYEY G8'/v./6¥L |0 9Ll | 2leve y¢ sexovoseg UK zy
26'802101 |0 G/'98/5¥% G/'€52S G2'95/8  |80GS §'20G¢€ GZIG/L |5/ €925 |£5°/6207 |G 98LGY 1’61296 0 9L | §205€ Z¢ sexotoseg ‘UA| v
6/°/6€1GC |0 GE'E9EBL GE'8IES GZ'Ly68  [9028€ 6'8/5¢€ Gy68/L |GE 89EG  |8/2ElEP |GEE9E6L ze'lzisie |0 9Ll | 6'845¢€ v 0¢ BeXovoseg Uk| ov
71081616 [0 Gy 88EYY S¥'052S G/'06/8 |SELY €'005¢ G106/l |S¥0S2S  [2'2199¢ G 88EYY 6c'vOvLLS |0 9L | €006€ o¢ sevovoseg UA| 6¢
0 18'z9lce  |6/101 G/ ¥¥SZ 62101 5’6805 68’926 |v8'GvEs 6,101 0 16'G66EE 0L | 64101 gz sexotoseg 'UA| 8¢
0 /2 /G¥1S  |29004 5’6152 2'900} L€0S £6051 z'ogerl 29001 0 10'682.Y ol 29001 gz BeXoroseg UA| /¢
0 G'/629€ £'/6.8 G'gece 162 ¥'G68 €'6207  [L'EVEL £8'6802 £/6/8 0 16'¥008€ 9'6 ¥'568 Zz seXoroseg UA| 9¢
0 89'8/69v |GClL G/8} 054 GLEE T4 20'v698 T4 0 99'600SY S90! 0SZ 0z sexovoseg UA| g¢
0 86851 Zlovie 2882l 6'€LE GG'Z89l  |68'09S 9g'glee zl'ov/e 0 9'LLLL 96 6°€L€ gl sexoroseg 'UA| ¢¢
0 SS'v16S 69.0L4L 6°L1GL 6/'8619 yyepLlL 690122 0 ¥8'0€LC 8 61151 /v serxodoff "UA| e¢
0 2.'892GL 1 [80°L€8CS ¥'2819 ¥0€0} 89'CEVS 9'lgly 8090¢ v'z8l9 £2'69G.¢ 80'L€82G 0 LG'0€G0€L SlL|9leiy Gy serkodoly ‘UA| z¢
G8'€6S 0 G8'0816 vyl £'90¥%L G1'0€€9 9'/.6G6 G8'0816 9'0L01 0 8 £90%1 ¢y senwkodoff Uk Le
0 92'.02¢12 |8'25/8 7’0621 8'9296 9'G6/81 £8'6vvel 8'25/8 0 £2'01560C 96 | ¥'05Cl L v serxodolf ‘UA| 0¢
0 89'02G56  |.'8856 : 869 1’0424 SY'GLJG  |S1'G06L |€0'€LbPL 1'8856 0 Ge'Z¥988 96 | L'0/¢) ¢ senxodoff UA] 62
0 €2'6GGE.  [G6°9¥601 G0'6¥81 69Y /1'zeTt GL/¥SG. |S0'6¥8L  [8LPLELL 56'9¥601 0 261€L 96 | Z2ect /¢ serxodof ‘UA| 82
0 — [11ssveel |1S'Ssvall 596602 62¢€ L /BEL 11'82/6  [69'660Z |29ceEl LSSYoLL 0 z29'ge8lel 96 | L'/6EL g¢ senxodoff UA] /2
€9lle 0 80501 G'0cLL §Zlee SZ6 G'Z9ly G/8€l y'yLeol 80501 12261 0 9Ll 526 ¢ senxodoff Uk| 9z
0 -|2s966LL |1 2LGLL '|62¢ £'86G1 Ge'e6lL. |Sv l6EC  |LLZLOLL LIS 0 16'00S21 L'LL | €866l 6¢ venkodolf ‘UA| 62
0 /87/€261 |€°/268C L'20ve ZLeol 81091 1'8022 £'20v2 59'8vEYL £/26€2 0 25'9188¢2 96 | 81091 /g sewxodoff "UA] vz .
¥£'0880C |0 982100} L'2LS) 110229 |s9'G/ee  |8.'¥¥.8 98'21 00} 9z'z1961 0 899 | 1215} g1 senxodoff UA] €z
9560445 |0 1/'¥566 £0'2z2zl LLES 18'88Y G9'66LC [2CTEEL 12'88¥¢C 1/'¥566 £0'6£20S 0 G6 | 1888y g} sewxodoff WA 12
22 1S.vy |0 /'S01S€ G'11G8 29.l2 9'v0¥e £'02€GL  |6'901G 88'989/€ L'G0LSE y'ZEELY 0 1l 9'¥0¥e 5| senxodoff ‘UA] 0z
0 G¥'9869y - |/L'/2ClY LCELS §'7GS8 L/81 g'lzve 60121 /'2ZeLs ¥9'SGE0E k4454 0 16'85¥2S Sl | 8leve ¢ sewxodoff ‘UA| 61
0 ¥1'996vZ  |6299) g'9ece G'/2LE 82¢ L6¥) G'60.9 g'9eee v.621 62991 0 ¥1°12282 L L6l | serkodoff UA] gi
0 6¥' 70685 |16'0L6Z L067. [5'008L 0z¢g Z0ZL 6'0¥2E £'0801 ¥'G2€9 160164 0 06009 L 202. 76 egonnug Ukl /|
0 /2°1€28)  [6°46VE 5026 2'89¢ 6'9591L €258 96'980Y 6°L6VE 0 L2yl 96 Z2'89¢€ G6 eaoHnug UA| 9}
0 G'28hy0lL  |S8'6LLEY G/'0e62  |E¥9CE €L Ge'G/2G |Gy 8SZL  [Z0TLvOLL .[S8'6LLEY 0 8z'LzeLEl 96 | €2iil G eaoHnug ‘UA| G|
0 1'8618€ G£'26€6 Geg'gvee |69 £'6€6 Gg'9zZy  |G680vL |6€69/91 GE'Z6E6 0 09'1280€ 20l | £6€6 z¢€ edonnug Uk| )
0 16'81260L |S¥'EVY6 G/ L6EC  |CEE 1'656 G6'GLEY [G9'8EVL |66E6 Gy EYYE 0 9€'€92601 20l L '656 0¢ esoHnug UA] €|
16'615¢5 |0 GG'9Z8lL ) Gzzlie 6'vvel 502095 |5£/981 |v8'zepeElL - (65928l 2'981¥S 0 ¥ oL | 6¥vCl ) ¢ edoHnug ‘UA] z|
0 yy'epGLE  [6°C168 G'SYee 2'8€6 Y444 € /0vl 99'9//8 6C168 0 89'6/91€ 20l | 28¢6 gz egonnug "UA] |}
0 ye'16L4G  |/e'282E /106 £09¢ /8'8/vL - |SO'LYS 9¥'£96¢ 1£'282¢ 0 G2'0.¥.S 16 1'09¢ ¢z| eaonnug UA] 0l
0 €l'GeeL 69'889YC 6£690L [SEELE 9Ll v'esZl £'0v95 ‘0881 ¥928lcl . |69'889%C 0 8.'1€.61 Ge0l | ¥esel 61| eaonuug UA] 6 .
0 gc'06EYL  [V'6YLY £€6 09 [A3 ¥'6291 8'65S 88'850Y v'erly 0 6'08vPL 96 2€LE /1| esonuug ‘uA| 8
0 €./128, |52'G.6./2 G/'8/0€ |9/291 G'Leeh G/ LYSS  |S2iv8L  [2'ELvLL 62'6/6.C 0 8.'6LL¥6 g6 | glect /0) egonvug ‘UA| 4
0 66'G6¥.L _[90'8/8Y L'6EL LE'0E0E  [59'80LL - [2€'L8LY 90'8/8YV 0 £1'26182 99 L 6EL 1| sesolag uk[ 9
0 8G'168¥S  |S'8292 - ) G'G/€ G/'689) |ST'€9S ZL'19/¢ §'829¢2 0 96'8L2€S oL G'GLE i euernounendalrif (il UA] ¢
99'0€1G 0 90'6€LT ) L'vze 18'82¢l  [GL'98Y LLLvie 90'6€12 12'2ELS 0 99 L'v2e ~z1 eueHounendatH I 'UA] b
9/'25965 |0 ¥'¥592 6.8 ¥'90LL 8'895 9'8¥6€ y'¥592 96'9¥609 |0 €l 26.8 Qz wuog ‘uuj €
0 9G'€.SL 8'805¢ ¥'8G€ 8'z19l 9'L€S ¥8'0602 3'8052 0 251661 A ¥'85€ Vgl vwuog ‘uuj ¢
0 €G'0z/zy [eevil 6'8¥C G00ZLl |SE'elE G/'09S1 eZrsl 0 80'Z062Y S/ 68¥C gl vuog ‘uu) |

adady 1203l ) rady 1999y
o > doinddal| AWOT OU | HhMHLO3Ll BAUNX Oxd BNOLT auH [e L=} OHoheuuo | Ajwudelou e 53] BWOU 9 e
91°90°0€ EH OIILED ool puis endog [ummderd| endogg 1HOWad mikuog | exdaoy | coaiag 0l0LY OH3UIUhEH 91°90'10 BH OWIUED ude} | Hemoury wort N
*1 9102 FHOIN

WeWOY Ou 19hli0 UIGHT08)




eHAdey O t LOWIA. 000 dowviedny

58112617 |20°9.12vhe €5 2aavLaL [cv 6501y [SL SovivL] 1698621 8¢ 520622 [€€ 29900y [v'€659€l [ee'212es9]122l5002|00'691 0L ¥52G5le8l [Pl 1¥0/9Gy [¥8'188ECIT ||

£2'190529 [0 £2'98G6G] |er'6£0Ly |58'66/01 |G6'GSYE |GL'666LL [2622€ 6661/ G'666G¢  |G866/0L |S6'G/Z€90L [£2'9856GL [G6°068L45 |0 89/1] 6661 g€ seHeoxa0] UA[ 9/
0 16'826L€ _[8'982% v'Zl9 8'6G.2 9'816 9¥z9 8'982¥ 0 1/'69662 0L | ¥zl9 € seHeoxao0) UA| G/
Z'G/96v |0 96'/5961 GG'y6zz  |92'€l/L |s2've8e  [8LLl 1’6251 G9'c889 |SS¥6¢C  |62'8£€8L 9645961 £6'65e8v |0 Zlzl| 26251 g¢ BeHhad UA| v/
0 GE'G52/L  |6'€€6S 1'/¥8 G9VI8E [SS L2l  |/'6809 6'€£6G 0 65660/} gL | I/v8 o€ BeHhad UA| €/
0 8€'86956  [£'//6S 6'€58 GG'Zy8E  [68°082)L  [8'8EVI €//65 0 88°'96156 8. | 658 8z BEHhad ‘UA| Z/
96'89l€l [0 62109 /658 G9'898€  [65'682L [¥L'01G9 62109 Z'199¢) 0 8. | /658 gz BeHhad UA| 1/
9,66y |0 Z'¢6S1 9'/zZ Z'%201 vLvE y8'Zrel Z'€66G1 ¥'S¥SY 0 L 9/22 c¢ sewodgeiQ Uk 0/
0 8G/5G 6G'18.Y G2'298 6'655 GG'61GZ  [G8'6€8 €G/9 GS'L8LY 0 G5'98/€S 0L 6655 1€ eAndAhnpy UA] 69
0 G9'/28/L |€£1'0288€ £8'186LE [6'9.6 G0'96EF |SESOVL  |SP'¥L89 £1°0288€ 0 £E'EEB6Y ) 69/6 6¢ enndRnniy UAT 89
0 /2°0/8Y¢ G692 G8¢ G'Zell S'L.S 52’1502 5692 0 Z0'71GSE L G8€ /z enndAnnpy UA[ /9
0 €€/0278 _|G'8€612 £2691 S59LL GZ'vZ2e  |SL¥.0L  [/649 G'8€612 0 £8'87£66 0L | 691/ Gz eAndfhuy U4l g9
se'eerz |0 v0'6¥EL v %02 ¥0'8€8 9'90€ ¥¥0Z ¥0'6vEL 1£'811¢€ 0 0L | ¥¥0Z 08 eHUHB[ UA] 69
19'/%89¢ |0 6’1158 18.Y v'16¥ 18%2 L'9v/ 92'918¢ 51168 cveslzz |0 96 | vi6Y 66 _eHuHall UA| $9
25'2z1s0¢ [0 8'65£8¢ 8'6£6Y £ce8 88y Z'€62¢ 99v9l 8’6567 €/ 11€S€  [8'6GEBE S¥' ¥/000€ |0 9’1l | zeeee €6 _eHuHa|[ UA[ €9
0 9. vveele [L'1¥508 1’529 G'60v0lL (8592 8'€gly 61802 1'Sve9 6066915 | L¥S0S 0 /€78/2L€ | 2721 | 8°€9Ly 16 _eHuHa|[ uA| Z9
0 €2'6./5¢ |85'61GS £'9¢8 £€8'82vE  |S¥'¥Scl  [8¥'80G8 856155 0 £€'06/2¢ 96 | £9¢c8 V 81z seHoedy UA] 19
0 /5'6155 Zv'eevl 6LES £'81¢ 19'90€1 _ [S0'8.¥ GZ916) Zv'zeyl 0 ¥1°620L1 s/ | /8LE 1 eondey M UA] 09
Sv'£8. 0 2988 99zl 169G 6681 ¥Z' 95201 |2988 692/12 0 96 | 99zl ¥9 Besoroseg "UA| 65
6L'81E€.51 [0 9'90005 9'8229 18£0L ¥5ze ¥2SLy 29102 9'8229 ¥0'Z£G8€ _ |9'90005 €9'8v85vL |0 Gl | ¥eSiy gG senovoseg 'UA[ gg
Zr'989¢ |0 ¥6 89E¥C G£'988¢€ 692/ 6'0652 ¥€'9c/9  |S5£988€ [9'6ELIL ¥6'89E¥Z 0 262YSy 6 | 60652 v 9G sexovoseg "UA| /G
€2'€1S€9¢ [0 9'9628¢ 9'8/.S G85¢ ¥'258¢ Z9Z61 9'8/.5 6v'2662¢  |99528€ 29'6¥285€ |0 96 | 72S8¢E 96 sexoroseg UA| 9g
19°2€8501 [0 [YiZ44 S2l/g S/v2 G/E2) SZLlE 5020982 |G/22¢ 99’7910l |0 96 | Sive ZG seyovoaeg UA[ GG




